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Section : Mental Ability1

Q.1 DIRECTION: From the pairs of words you are to select the pair which is related in the same
way as the words of the first pair.

FOOD : HUNGER :: WATER :

Ans X 1 Bed
of 2 Thirsty
X 3. Rest
75 4. Night

Question ID : 54592722025

¥ -
Q.2 DIRECTIONS: From the given responses, find the missing letter in the series.

LO TWBE ??

Ans o 1.0V
X 2.0
P A
X 4 HL

Question ID : 54592722019

- W
Q.3 Find out the next term.

AS5D, F151, K25N, 2
Ans X" 1 La4apP

X 2.Ma41P

/< 3.N44sU

of 4.P35s

Question ID : 54592722020

Q.4 There are eight girls A to H was need to go for dance sessions in two batches of four girls
each. Following are the criteria:

(1) B and H have to go together
(2) D and F do not go together
(3) A and C never go together
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If B and C go in the first batch, then who of the following can be in the second batch?
Ans X" 1 AD,FandG

75 2.AD,Hand G
o 3.ADEandG

/X 4.ACEandG

Question ID : 54592722035

Q.5 Choose the odd one from the given alternatives.

Ans X" 1 FH
X 2N
W 3. TR
X 4.0

Question ID : 54592722023 ]

Q.6 Sagar is ranked thirty fourth from the bottom in a class and seventh from the top . How
many students are there in this class?

Ans X" 1 41
X 2.39
o 3.40
K 442

Question ID : 54592722034 ]

= _

Q.7 DIRECTION: In the following question, select the related letter/word/number from the given
alternatives.

COMB : HAIR :: :
Ans X" 1.Surgery : pain
x 2. Cup : saucer
x 3. Book : author

J 4. Knife : vegetables

Question ID : 54592722026

—

Q.8 In a certain code language, if Drama is called as Green, Green is called as Time, Time is
called as Yoga, Yoga is called as Team, Team is called as Cricket, Cricket is called as Bat
and Bat is called as Crowd, then what is the colour of grass in that language?

Ans X" 1 Cricket
o 2 Time
/< 3. Crowd
X 4. Drama

Question ID : 54592722029

Q.9 Find the wrong term in the series?

AD,BH,CL,DPET
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Ans  of 1 CL
/< 2.AD
/X 3.0pP
/X 4.BH

Question ID : 54592722021 ]

Q.10 Select the option that will come in place of question mark and complete the below series.
This term is given as one of the alternatives. Mark the correct alternative.

280,271,264,259 ,?
Ans X" 1252

W 2 256
/X 3.250
75 4.125

Question ID : 54592722038

= =

Q.11 For the following groups of letters given in Column |, the codes are given in Column Il.
Answer the question by finding the codes for the groups from the given columns.

Column T Column TI
(A) kill dog cat NEX

(B) tape Kill matcat | X EZV
(C) kill mat jeep tiger| X VWA

What is the code for kill?

Ans  of 1 X
K o2w
K3V
X 4z

Question ID : 54592722030

Q.12 Choose or find odd pair of words:
Ans x 1. (Libero : Volleyball)

X 2. (Bowling : Cricket)
J 3. (Point Gaurd™ Hockey)

X 4. (Goalkeeper : Football)

Question ID : 54592722024 ]

Q.13 DIRECTION: In the following question, select the related letter/word/number from the given
alternatives.

DAC : EBD :: HEG :

Ans X1 KIH
75 2. JFH
75 3. IHF
o 4 1FH
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Question ID : 54592722027 ]

Q.14 In the following question, there is a statement followed by two courses of action, numbered
I and Il. You have to assume everything in the statement to be true to decide which of the
two suggested courses of action logically follows for pursuing
Statement:

Air pollution in India is reaching alarming levels.

Course of actions:

I. Ban use of insecticides.
Il. Institute a high level committee to find persons involved in polluting India.

Ans X" 1 Either | or Il follows
X 2. Only I follows
« 3. Neither | nor Il follows

X 4. Only Il follows

Question ID : 54592722037 ]

Q.15 A five members research group is to be chosen from the Cricketers Nitesh, Arun, Aditya and
Mohseen and the Boxers Priya, Neha, Simran and Kiran. At least 3 cricketers must be in the
group. However:

(i) Nitesh refuses to work with Mohseen.
(ii) Arun refuses to work with priya.

(iii) Neha refuses to work with Simran.
(iv) Mohseen refuses to work with Neha.

If Arun is chosen, who else would have to be definitely in the group?
Ans X 1 Neha

75 2. Nitesh
x 3. Simran
of 4 Aditya

Question ID : 54592722033 ]

Q.16 Eight friends Kajal, Sneha, Pooja, Anjum, Ram, Priya, Pranjali and Jivan are seated in a
straight line, facing North, but not necessarily in the same order. Jivan sits at the extreme
right end of the line. Only four people sit between Jivan and Sneha. Both Kajal and Pooja are
immediate neighbours of Sneha. Only two people sit between Pooja and Pranjali. Pranjali is
not an immediate neighbour of Jivan. Anjum sits second to left of Priya.

Who amongst the following sit exactly between Pooja and Pranjali?
Ans X" 1. Anjum, Kajal

f 2. Kajal, Sneha

X 3. Priya, Jivan

x 4. Anjum, Ram

Question ID : 54592722031

Q.17 More heavy the Balls more costlier they are. Rahul’s Ball is heavier than Virat's and costlier
than Rohit’s. Dhoni’s ball is costlier than Rahul’s but lighter than Kedhar’s. Rohit’s ball is
costlier than Virat's. So who is the owner of the costliest ball?

Ans X" 1. Rohit

« 2. Kedhar
75 3.Rahul
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/X 4. Virat

Question ID : 54592722032

Q.18 Directions: In the question below, there are three statements followed by two conclusions.
You have to take the given statements to be true even if they seem to be at variance with
commonly known facts and then decide which of the given conclusion logically follow(s)
from the given statements.

Statements:

I. All reds are whites.

Il. All whites are oranges.
I11. All blues are reds.

Conclusion:

I. All whites are reds.
1. All reds are oranges.

Ans x 1. Either conclusion | or Il follows
J 2. Only conclusion Il follows
x 3. Only conclusion | follows

x 4. Neither conclusion follows

Question ID : 54592722036 ]
—_—
Q.19 Find the odd one out from the given alternatives.
Ans J 1. Mother-in-law
X 2. Sister
X 3. Father
X 4. Mother
Question ID : 54592722022 ]

Q.20 In a certain code language, if the word GOLDEN is coded as GLEODN, then how is the word
PLATINUM coded in that language?

Ans X" 1 LAIULTNM
75 2. PALUITNM
o 3. PAILLTNM

75 4. PAUILTNM

Question ID : 54592722028 ]
Section : Mental Ability2
Q.1 Given interchanges: signs + and +, and numbers 9 and 6; then the valueof 9 + 6 +3 - 7 is:
Ans x 1.6
X 2.9
W32
X 4.4
[ Question ID : 54592722045 ]

Downloaded from - www.exammix.com



Visit - www.exammix.com & Download : All Exam Previous Question Papers (Hindi & English)

Q.2 Choose the odd one from the given options.
Ans  of 1.31,36,17

/X 2.37,59,53
75 3.71,73,37

/X 4.11,17,53

Question ID : 54592722042 ]

Q.3 In the following question, one number is wrong in the series. Find out the wrong number.

124,172,228,290,364

Ans  of 1 290
5 2172
/X 3.124
/X 4.364

Question ID : 54592722047

= =

Q.4 Three of the four figures marked (A), (B), (C) and (D) are in a sequence or similarity in some
way. You have to choose the figure which is odd /different:

Ans

Ko

X2

©
®
b

Question ID : 54592722053

Q.5 Complete the series by choosing right figure from the given choices.

Problem Figures

Ans
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Question ID : 54592722050

Q.6 Which of the following choices is the exact mirror image of the main figure.

Question Figure

Ans

X
PA

Question ID : 54592722058 ]

Q.7 Complete the series by choosing right figure from the given choices.

Problem Figures
I ?
1 2 3 4
Ans
Ko
v
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X3

X 4

Question ID : 54592722051

Q.8 In the following question, one number is wrong in the series. Find out the wrong number.

2,10, 34, 105, 322

Ans X" 110
X 2.322
o 3105
/X 4.34

Question ID : 54592722039

Q.9 Find the missing number in the following questions.

2 3
i1 | 7 5

120|145 ?

Ans o 1 16
X 2.19
< 317
X 415

Question ID : 54592722044 ]

_

Q.10 Find the missing figure in the given matrix.

JA\VANRE

Rh

Ans

<[
X
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[X
X

Question ID : 54592722052

Q.11 Which of the following diagrams best represents a relationship among Cousins, Nephews
and Males?

Ans

Ko

X 2

Slelele

Question ID : 54592722048

—_—
Q.12 Which answer figure will complete the pattern in the question figure?

Ans

v
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X 4

Question ID : 54592722057

Q.13 From the given four positions of a single dice, find the number of dots at the face opposite
to the face having 1 dot.

O] = B C) =,
!‘:: l. :"II ' °
e ole . e |* e
e @ . s
I I 111 v
Ans X1_3
K 2.1

< 3.4
v N3

Question ID : 54592722055 ]

_= =
Q.14 In the given figure, the circle represents Smokers, rectangle represents alcoholic addicts

and triangle represents tobacco chewer. which number represents Smokers who are
tobacco chewer, but not Alcohol addict?

Ans  of 10
X 26
X 3.4
X 45

Question ID : 54592722049 ]

Q.15 Choose the odd one from the given options.

Ans X" 108
X 2.36
/X 3.164
o 4171

Question ID : 54592722040

Q.16 In the following question, select the related letter/word/number from the given alternatives.

(240,251,264)

Ans
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75 1.(320,330, 344)
/X 2.(320,329, 344)
/< 3.(320,331,343)

o 4.(320,331,344)

Question ID : 54592722043 ]

Q.17 In the given question find the answer figure in which question figure is embedded.

Questions Figure
I

Ans i

Question ID : 54592722056 ]

T~
Q.18 How many Squares are there in the figure given below?

Ans x1,7
X 25
s
X 4.9

Question ID : 54592722054 ]
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Q.19 Choose the odd numeral pair/group in each of the following questions.
Ans X" 1.72:12

KX 2.114:19
/X 3.78:13
o 2.119:17

Question ID : 54592722041 ]

Q.20 In the question given below, there is a statement followed by two conclusions. You have to
take the given statement to be true even if they seem to be at variance with commonly
known facts and then decide which of the given conclusion logically follow(s) from the
given statement.

Statement:
S=A<P>R<T<U
Conclusions:

LU= A

oOIOS<T

Ans X" 1.0nly conclusion Il follows
X 2. Only conclusion | follows
x 3. Either conclusion | or Il follows

( 4. Neither conclusion follows

Question ID : 54592722046 ]

Section : General Awareness1

Q.1 Which element is used as timekeeper in the atomic clocks?
Ans X" 1 Potassium

X 2. Magnesium

J 3. Cesium

X 4. Vanadium

Question ID : 54592722069 ]

_
Q.2 The color of Tomato is red due to the presence of .

Ans X" 1. Limonene
( 2. Lycopene
x 3. Fructose

X 4. Beta Carotene

Question ID : 54592722068 ]

Q.3 What percent of households in rural India accessed to toilet according to survey National
Annual Rural Sanitary Survey 2018-19?

Ans X" 1.94.2 percent

X 2.93.4 percent

( 3. 93.1 percent
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x 4.94.5 percent

Question ID : 54592722067

Q.4 Which is the richest state in India in 2019?
Ans ( 1. Maharashtra

x 2. Uttar Pradesh
7% 3. Tamil Nadu
x 4. Madhya Pradesh

Question ID : 54592722064 ]

Q.5 In which state of India a new species of paddy frog is found?
Ans X" 1. Telangana

/X 2. 0disha
J 3. Assam
x 4. Kerala

Question ID : 54592722066 ]

Q.6 Which of the following Tribe lives in Arunachal Pradesh?
Ans X" 1. Bodo tribe

x 2. Chenchu tribe
x 3. Toto tribe

o 4. Nyishi tribe

Question ID : 54592722075 ]

Q.7 On what basis India is at third rank according to budget speech of Arun Jaitley 2018-19?
Ans J 1. Purchasing Power Parity

x 2. Agricultural Production Wwww.exammix.com

x 3. Gross Domestic Product

x 4. Foreign Direct Investment

Question ID : 54592722065

Q.8 In which year Vitamin A was discovered?
Ans X" 11910

X 2.19m
75 3.1913
o 41012

Question ID : 54592722073 ]

Q.9 Among the following tax which one is indirect tax?
Ans X" 1. Corperation Tax

J 2. Sales Tax
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x 3. Income Tax

x 4. Wealth Tax

Question ID : 54592722063 ]
Q.10 Who is awarded by Tansen Samman 2018?
Ans X" 1. Savita Devi
J 2. Manju Mehta
x 3. Pt. Ulhaas Kashalkar
x 4. Pt. Dalchan Sharma
Question ID : 54592722060 ]
= =

Q.11 Which among the following got the GI (Geographical Indications) in 2019?
Ans x 1. Banglar rasogolla

x 2. Etikoppaka Toys
x 3. Kadaknath
J 4. Kolhapuri Chappal

Question ID : 54592722061

Q.12 In which tree annual growth rings are absent?
Ans X" 1. 0aks

x 2. Pine Tree
J 3. Palm Tree

x 4. Banyan Tree

Question ID : 54592722071 ]

Q.13 Consider the following statement:

I. Ukai Dam is constructed on Tapti River.
Il. Panchet Dam is constructed on Beas River.

Which statement is correct?
Ans  of 1 Only|

75 2. only 1l
/5 3.Bothland i
/5 4.Either lor Il

Question ID : 54592722074

Q.14 Which of the following device measures depth of a sea?
Ans X" 1. Anemometer

x 2. Altimeter
J 3. Fathometer

x 4. Barometer
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l Question ID : 54592722072 J
Q.15 For what ‘karewas’ the lacustrine deposit in Kashmir is known?
Ans o 1. saffron Cultivation
X 2. Shifting Cultivation
x 3. Terrace farming
X 4. Apple Orchards
Question ID : 54592722077 ]

Q.16 What is the Maternal Mortality Ratio in India as of July 2019?

Ans o 1 130
75 2.218
X 3.178
75 4.167

Question ID : 54592722070

_—

Q.17 Which country gifted Manipur, the Imphal Peace Museum?
Ans X" 1. Bangladesh

x 2. Norway
x 3. China
“ 4. Japan

Question ID : 54592722059

= =
Q.18 Where does the oldest oil field of India located?
Ans X' 1 Gujarat
J 2. Assam
x 3. Arunachal Pradesh
x 4. Tamil Nadu
Question ID : 54592722078 ]
&
Q.19 Which cyclone is termed as ‘rarest of rare’ by RIMES reports?
Ans X 1 Gaja
x 2. Nilofar
/X 3. Fani
o 4 Titl
Question ID : 54592722076 ]

Q.20 In which state of India Kheer Bhawani Mela is held?
Ans x 1. Maharashtra

x 2. Gujarat

J 3. Jammu & Kashmir
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x 4. Assam

Question ID : 54592722062 ]

Section : General Awareness2

Q.1 Which of the following metal was used in India for the first time?
Ans x 1. Aluminium

J 2. Copper
x 3. Silver
x 4. lron

Question ID : 54592722080

_ =

Q.2 Among the following which battle was fought between Humayun and Sher shah Suri?

Ans X" 1 Battle of Plassey
f 2. Battle of Chausa
x 3. Battle of Panipat

x 4. Battle of Buxar

Question ID : 54592722082 ]

Q.3 ‘The guide’ is written by .
Ans  off 1 RK Narayan

x 2. Ruskin Bond
x 3. Jane Austen
X 4. Barak Obama

Question ID : 54592722091 ]

—_—
Q.4 Who was the Viceroy of India at the time of civil disobedience movement?

Ans X" 1. Lord Reading

( 2. Lord Irwin

x 3. Lord Chelmsford
x 4. Lord Wavell

Question ID : 54592722083

Q.5 Which of the following book is written by Shashi Tharoor?
Ans x 1. Mythologies

“ 2. Bookless in Bagdad

X 3. Two Lives

x 4. Silent Spring

Question ID : 54592722090 ]
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Q.6 In which city International Olympic Committee (I0C) opened its headquarters?
Ans X" 1 Basel

x 2.Bern
x 3. Geneva
J 4. Lausanne

Question ID : 54592722098 ]

Q.7 Which among the following is India’s highest civilian award?

Ans x 1. Padma-Bhushan
x 2. Padma-Shri
x 3. Padma-Vibhushan

J 4. Bharat- Ratna

Question ID : 54592722089 ]

S

Q.8 Between the sixth and fourth centuries BC which Mahajanpad was the most powerful?

Ans J 1. Magadha

X 2 Kasi
x 3. Gandhara
x 4. Anga
Question ID : 54592722085
_ _
Q.9 Which reform or Act during the British rule in India has given separate electorate to
Muslims?

Ans J 1. Morley-Minto Reforms
75 2. Pitt's Act
x 3. Rowlatt Act

x 4. Montagu-Chelmsford Reforms

Question ID : 54592722095

—
Q.10 Which Indian community established the first Cricket Club in India?

Ans  of 1 parsi
75 2. Muslim
75 3.Hindu
/X 4.sikh

Question ID : 54592722096 ]

Q.11 Which Mughal emperor enforced Sharia Law in India?
Ans  of 1 Aurangzeb

x 2. Akbar
x 3. Babur

X 4. Bahadur shah-ll
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l Question ID : 54592722084 J

Q.12 Which of the following created the famous Tom and Jerry Cartoon?
Ans X" 1 E.C.Segar

J 2. Joseph Barbera
x 3. Martin Goodman

x 4. Walt Disney

Question ID : 54592722087

Q.13 Which country awards Noble Peace Prize?
Ans x 1. Netherland

J 2. Norway

x 3. Germany

x 4. Iceland

Question ID : 54592722088 ]

Q.14 What is the minimum age of person to be a Governor of the State according to constitution
of india?

Ans x 1. 40 Years
x 2. 45 Years
x 3. 50 Years

J 4. 35 years

Question ID : 54592722094

_—

Q.15 During the making of Indian Constitution from which country’s constitution the feature,
‘Procedure for amendment in the Constitution’ is taken?

Ans x 1. Ireland

J 2. South Africa
x 3. Germany

75 4. Britain

Question ID : 54592722093

Q.16 Nilgiri Tahr is .
Ans X' 1 Cow

J 2. Goat
7< 3.8ul
/X 4. cat

Question ID : 54592722079 ]

Q.17 In which year Goa was captured by Portuguese?
Ans X 11515

X 2.1410
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o 3.1510
/X 4.1610

Question ID : 54592722081

Q.18 Shaili Chopra is associated with:
Ans X" 1 Classical singing

“ 2. Journalism

x 3. Acting
x 4. Sports

Question ID : 54592722086 ]

=

Q.19 How many players are there in water polo team?

Ans  of 17
K 2.9
X 36
X a8

Question ID : 54592722097 ]

—

Q.20 Which article of Indian Constitution empowers the election commission of India to issue
rules and guidelines?

Ans X" 1 Article 325

X 2. Article 322
o 3. Article 324

/5 4. Article 323

Question ID : 54592722092 ]

Section : Arithmetic Ability1

Q.1
In basket B, 8:1; % more apples than that of basket A In A | a% apples are rotten and in B, 25% more rotten

apples than A_ If total rettenapples in both the basket togetheris 32.4%. Find the percentage of rotten apples
in B.

Ans

X 1292 %
v 34%%
; 9

X 3.38>%

- 7
X a 301—3-%

Question ID : 54592722114

Q.2 Which of the following is a prime number?
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Ans X" 1437

75 2.567
W 3241
/< 4.323

Question ID : 54592722108 ]

Q.3 A person divide 41 % of his property among his three sons Rohit, Sunil and Anand in the
ratio of 11 : 13 : 17. If the sum of the shares of Rohit and Sunil is Rs.72000. Find the
remaining property of the person.

Ans X" 1 Rs.3,00,000
75 2.Rs.1,23,000
o 3.Rs. 1,77,000

/5 4.Rs.1,96,000

Question ID : 54592722112 ]

_—

Q.4 The average weight of Chintu, Chantu and Pintu is 26 kg. The average weight of Chintu,

Chantu is 28 kg and The average weight of Pintu and Tintu is 23 kg. What is weight of Tintu
?

Ans X" 1 21kg
o 2.24kg
/X 3.28kg
/X 4.255kg

Question ID : 54592722109

Q5 DIRECTIONS: What should comein place efthe question mark (?) in the following
question?

(0.5)2+ (0.22+2 x (0.5)(0.2)="?
Ans X" 1.0.94
/X 2.039

75 3.0.69
of 4049

Question ID : 54592722099 ]

* LMo (32 8)is:
Ans X 1.720

o 2360

/X 3.1440

/< 4.2880

Question ID : 54592722105 ]

Q.7
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DIRECTIONS: What should come in place of the question mark (?) in the following
question?

2 of413 +20f615="2
7 S

Ans  of 1 423
75 2.433
/X 3.541
75 4.792

Question ID : 54592722101 ]

Q.8 DIRECTIONS: What should come in place of the question mark (?) in the following question?
2ofZofZ0f630 =7
57 %

Ans  of 1 60
/X 2.45
X 375
X 4.90

Question ID : 54592722102 ]

Q.9 DIRECTION: What should come in place of the question mark (?) in the following question?

3%0.3x0.03 x 0.003x 30 =?
Ans X" 100243

75 2.0.0000243
/< 3.0.000243
o 4000243

Question ID : 54592722100 ]

Q.10 A man bought a bike and a car for Rs. 500000. He sold the bike at a gain of 20% and the car
at a loss of 10%, thereby gaining 5% on whole. Find the cost of the bike?

Ans X" 1 Rs. 180000

o 2. Rs. 250000
75 3.Rs. 150000
75 4.Rs. 200000

Question ID : 54592722116 ]

Q.11 The money with two persons Anil and Sunil are in the ratio of 3 : 4. Anil can spends money
in 5 days and Sunil can spends money in 6 days. Both spend money with their constant rate.
After how many days will their money be in the ratio of 9 : 20?

Ans X" 1.3 days
o 2. 4days
X 3.2 days
x 4.1 day

Question ID : 54592722118
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Q.12 A shopkeeper sells shirts in the scheme “ Buy 2 Get 1 free” and eams a profit of 33& 9%. Find his profit %
when he sells without this scheme.

Ans X 1. 50 percent
x 2. 200 percent
J 3. 100 percent

X 4.75 percent

Question ID : 54592722115 ]

Q.13 Six bells toll together at a certain time and after that each keeps on tolling at an interval of
5,10, 15, 20, 25, 30 seconds. After how many seconds will they toll together again?

Ans X" 1600

o 2300
75 3.250
/X 4.240

Question ID : 54592722106 ]

Q.14 A trader markup the article such that on selling it at the marked price, the profit is 70% of
the selling price but he sells the article at 150% profit of the cost price. If the difference
between two selling prices is Rs.1750. Find the selling price when it sold at 15% profit.

Ans  of 1 Rs2415
#< 2.Rs.2210
/X 3.Rs.2845

75 4.Rs.1255

Question ID : 54592722117

= = =

Q.15 The average age of Raman, Suman and Mohan is 34 years. Five times the age of Mohan
seven years ago was equal to four times the age of Suman five years ago. Three times the
present age of Suman is equal to two times the present age of Raman. Find the age of
Suman five years hence.

Ans X" 140 years
( 2. 35years
/X 3.28years
x 4. 39 years

Question ID : 54592722110 ]

Q.16 DIRECTIONS: What should come in place of the question mark (?) in the following
question?
(V14.44 -2.59 + 1.69=?
Ans ( 1.1
K 2.24
K315
X 4.225
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l Question ID : 54592722104 J

.17 h
Q In an office, i}- of the employees are men. 40 % of the men and 60% of the women have 4 - wheeler.

40% of themen and m% of the women having 4 — wheeler are mamied. If 25% of total 4 — wheeler
owner are married. What is the value of m?

Ans X" 11233

o 21166
/X 3.1355
X 4.9.09

Question ID : 54592722113

Q.18 Marked prices of two mobiles are given in the ratio of 7:5. A shopkeeper gives
283% discount on first mobile. If the total discount on two mobiles is 20%. Find
the discount given by shopkeeper on second mobile?

Ans x 1.12.50 percent
( 2. 8 percent
X 3. 4 percent
x 4.10 percent

Question ID : 54592722111

_

Q.19 PIRECTIONS: What should come in place of the question-mark (?) in the following
question?

34

X =
72

Ans x1_27
23
X 3 313
X 4.9

=2243-2°+8

Question ID : 54592722103 ]

—

Q.20 19541742 is divisible by which of the following?

Ans X" 112
W21
X 313
K409

Question ID : 54592722107 ]

Section : Arithmetic Ability2

Q.1 Charan is 16 years younger than Amar, while Bharat is 10 years older than charan. The ratio
of the age of charan 6 years hence and age of Bharat 14 years ago is 4 : 3. Find the present
age of Amar.

Ans
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x 1. 54 years

X 2. 62 years

« 3. 50 years

x 4. 44 years

Question ID : 54592722120

Q.2 The ratio of length and breadth of a rectangle is 5 : 2 and the perimeter is 70 cm. What is
the area of the rectangle?

Ans X" 1,400 sqcm
75 2.200sqcm
/X 3.150 sqcm
o 4250 sqcm

Question ID : 54592722132

= =
Q.3 DIRECTIONS: Study the table carefully and answer the following questions.
Number of washing machines and refrigerator manufactured by a company
Year 2005 2006 2007 2008 2009
Washing 14400 | 20300 | 12800 | 16400 18600
Machine
Refrigerator | 12800 [ 24700 [ 19200 | 20200 14900
Approximately what was the percent decrease in number of refrigerators manufactured in
2007 from 20067
Ans " 126
/K 2.28
W 322
/X 4.30
Question ID : 54592722134 ]

Q.4 DIRECTION : Study the following graph and answer the given questions.

[ Amount (Rs. in lakhs) invested in raw materials

] value (Rs. in lakhs) of sales of finished goods

F00 S 600
600 - 500 53
500 - 460
37 400 420
400 300 335
E 300 200 22
E 200 4 12
oo ol
g
19495 1996 laq7 19498 19499 2000

Year

In 1996, what percent increase in the amount invested in finished materials as compared to
the previous year?
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Ans X" 1.50 percent
x 2. 82.50 percent
( 3. 87.50 percent
x 4. 62.50 percent

Question ID : 54592722136 ]

Q.5 John can complete a work in 9 days, whereas John and Smith together can complete the
same work in 6 days. How long will it take for Smith alone to complete the work?

Ans " 136 Days

X 2.15 Days
/X 3.54Days

o 2.18Days

QuestionID: 54592722129 ]

Q.6 DIRECTIONS: The following pie chart shows budgetary allotments for different categories.
Study the graph to answer the questions that follow.

Budget

12 49

WOthers WDirect Demand  PRoad and Raibways  Agriculture  EDefence

Items displaying a ratio of nearly 1: 15 are
Ans x 1. Defence and Direct demand

J 2. Direct demand and Defence
x 3. Roads and railways and defences

x 4. Direct demand and others

Question ID : 54592722135

Q.7 Two cars P and Q start at the same time from A and B which are 240 km apart. If the two
cars travel in opposite directions, they meet after 2 hours and if they travel in the same
direction (from A towards B) P meets Q after 8 hours. What is the speed of the car P?

Ans X" 160 km/hr.
75 2.70 km/hr.
75 3.80 km/hr.
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o 2. 75km/hr.

Question ID : 54592722126 ]

Q.8 The dimensions of a hall are should it be 150 x 80 x 120 cm. How many persons can sit in
the hall if each person requires 200 cube cm of air?

Ans X" 17250

75 2.7150
/< 3.7300
o 47200

Question ID : 54592722130 ]

Q.9 DIRECTIONS : Shubh and Shaurya are two friends who lives in a hostel. Shubh gets Rs.5000
as his pocket money per month and Shaurya gets 6000 as his pocket money per month. The
expenses of Shubh and Shaurya are shown in pie chart.

Expenses of Shubh

saving, 9%_\

Room Rent,
18%

Misc, 18%

Mess, 22%

Petrol, 12%

il

Books, 12%

Expenses of Shaurya

zaving, 5%_..‘\
-

Room Rent,
21%

Misc, 18%

Petrol, 14% Mess, 23%

Books, 11% Mobile, 8%

What is the difference between expenses made by Shubh and Shaurya on room rent and
mess?

Ans X" 1.720

/X 2.784
o 3640
75 4.586

Question ID : 54592722133 ]

Q.10 Directions: The following questions are to be answered on the basis of sales turnover bar-
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chart for the years 1990 to 1995 given below:

Salesin Thousands of Rupees
500

400
300
200
100
0 - T T T T T
1990 1991 1992 19493 1954 1945

By what amount are the sales in 1995 more than those in 1991?
Ans X" 1.Rs. one hundred

x 2. Rs. ten thousand
X 3. Rs. ten lakh
J 4. Rs. one lakh

Question ID : 54592722137 ]

Q.11 A finishes a work in 3 days, B finishes the same in 4 days and C in 5 days. They take turns to
finish the work A on the first day, B on the second and C on the third day and then again A
and so on. On which day will the work get over?

Ans X' 1.3
24
K 3.2
X 45

Question ID : 54592722127 ]

Q.12 A sum of money is invested at 40% p.a. compound interest, compounded half-yearly. If the
amount at the end of one and half years is Rs.2,16,000, then find the sum ?

Ans X" 1. Rs.1,10,000
/5 2.Rs.1,40,000
75 3.Rs.1,50,000
o 4.Rs.1,25000

Question ID : 54592722122 ]

Q.13 Four friends have money in the ratio of 17 : 20 : 23 : 26. Out of four, one of the persons has
Rs.6000 more than the other and Rs.3000 less than the another. Find the total money with
all four.

Ans X" 1. Rs.43000
o 2. Rs.86000
/5 3.Rs.1,72,000
75 4.Rs.98000
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l Question ID : 54592722119 J

Q.14 Two sums of money in the ratio of 4 : 5 are borrowed for a period of 5 years. The rate of
interest on the two sums are in the ratio of 4 : 5 and the total simple interest on the two
sums is Rs.12300. Find the difference in the simple interest on the two sums.

Ans  of 1 Rs2700
#< 2.Rs.1800
75 3.Rs.1500
#< 4.Rs.3200

[ Question ID : 54592722121 ]

Q.15 A spider climbs 10 metre of a pole in 20 minutes and slips down 2 metre at the very
moment. If it takes 3 hours to climb on its top find the length of the pole.

Ans X" 1.90 Metre
75 2.80 Metre
75 3.72 Metre
o 474 Metre

Question ID : 54592722128 ]

Q.16 The speed of a car is 2 times the speed of a passenger train. If the car travels at the speed
of 85 kmph, what will be the difference in the time taken by the passenger train and the time
taken by the car to cover 935 km.?

Ans J 1.11 hours
X 2.22 hours

x 3. 5 hours
X 4. 8 hours

Question ID : 54592722125 ]

—_—

Q.17 Suraj borrowed a sum of money from Ajay at a certain rate of simple interest for two years
and lent it to Vinay at same rate of compound interest compounded yearly for two years. At
the end of two years he received C.l. of Rs.1230 and paid S.I. of Rs.1200. Find the sum and
rate of interest.

Ans X" 1.Rs.10000, 5% p:a.
75 2.Rs.12000,8% p.a.
o 3. Rs.1200008%0p.a.

75 4.Rs.15000, 8% p.a.

Question ID : 54592722123 ]

Q.18 DIRECTIONS: following graph shows the number of Bata and Woodland shops in 5 cities of
India.
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What is the average number of Bata shops in all 5 cities together?

Ans  of 1 142
/X 2.135
X 3.161
X 4.137

Question ID : 54592722138 ]

== =
Q.19 In how much time will a car cover a distance of 9000 metre with a speed of 90 kmph.?

Ans X" 1.0.4 Hour

o 2.0.1 Hour
/< 3.0.3 Hour
75 4.0.2 Hour

Question ID : 54592722124

—

Q.20 Atook 30 s to cross a rectangular field walking diagonally at the rate of 40 m / min and B
took the same time to cross the same field along its sides walking at the rate of 56 m / min.
The area of the field is:

Ans X" 1154 metre square

x 2. 172 metre square
x 3. 132 metre'square

J 4. 192 metretsquare

Question ID : 54592722131

Section : General English1

Q.1 Select the most appropriate word to fill in the blank.

Tiger and bull sharks are two species often found the coast and are known to bite
people.

Ans J 1. along
x 2. aboard
x 3. across
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X 4.in

Question ID : 54592722150

Q.2 Select the most appropriate word to fill in the blank.

No matter where you go and what type of safari you , timing is the key.
Ans X" 1. choosing

X 2. chose
( 3. choose
X 4. chosen

Question ID : 54592722156 ]

Q.3 Identify the segment in the sentence which contains the grammatical error from the given
options.

Though leopards look fearsome, they avoid humans and can be tricky to spotting
Ans X 1. they avoid

J 2. to spotting
X 3. look fearsome

x 4. Though

Question ID : 54592722143

Q.4 Identify the segment in the sentence which contains the grammatical error from the given
options.

Eyebrow movement playing a major role in human communication.

Ans X" 1. Eyebrow movement

( 2. playing
x 3. amajor role

X 4. human communication

Question ID : 54592722139 ]

=
Q.5 Select the most appropriate word to fill in the blank.

A study has found that dogs are uniquely skilled understanding gestures.

Ans X" 1 off
< 2.in
o 3at
75 4. of

Question ID : 54592722152

Q.6 Select the most appropriate word to fill in the blank.

Every few yards, he digs a shallow hole in the rich, red soil and the leafy sapling of
an ebony tree.

Ans X 1. introduce

J 2. plants
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x 3. stocks

/X 4. establish

Question ID : 54592722149

Q.7 Select the most appropriate word to fill in the blank.

Images in the media can shape how people see each other, to bias and
consequences that impact us all.

Ans X" 1 lead
o 2. leading
75 3.led
X 4. leads

Question ID : 54592722155 ]

R

Q.8 A sentence has four parts, rearrange the given parts so as to form a meaningful sentence.

A: A day to celebrate all fathers
B: what began as one woman's
C: tribute to her dad, turned

D: into a life-long mission for

Ans X" 1 ADBC

o 2.BCDA
/< 3.BDCA
75 4. ABCD

Question ID : 54592722158

Q.9 Identify the segment in the sentence which contains the grammatical error from the given
options.

A number of worldwide shark attacks has grown at a steady pace since 1900.
Ans J 1. A number of

/5 2. since 1900

x 3. has grown
X 4. worldwide

Question ID : 54592722140 ]

Q.10 Identify the segment in the sentence which contains the grammatical error from the given
options.

If we doesn't plant trees, there may be nothing left for our children.
Ans  off 1 doesn't plant

X 2. nothing
x 3. If we

X 4. our children

Question ID : 54592722141 ]

Q.11 Select the most appropriate word to fill in the blank.
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A tiny, old star, just 12 light-years away might
new study has found.

Ans X 1. cluster

J 2. host
X 3. parade
x 4. supply

two rocky planets, astronomers and a

Question ID : 54592722154

Q.12 lIdentify the segment in the sentence which contains the grammatical error from the given
options.

In total, there were around six orcas spread off in groups of two or three
Ans X" 1 two or three

X 2. In total
J 3. spread off
X 4. were around

Question ID : 54592722142 ]

Q.13 Select the most appropriate word to fill in the blank.

Photographers have been to take iconic pictures of the world’s highest mountain, the
Mount Everest.

Ans X" 1. defeating

J 2. striving
x 3. pushing

x 4. thrusting

Question ID : 54592722151 ]

Q.14 Select the most appropriate option to substitute the underlined segment in the given
sentence. If there is no need to substitute it, elect option No substitution required.

Hyenas might have a bad reputation, but they are one of Africa's most successful predators.

Ans X 1. most successful predator
x 2. more successful predators
X 3. much successful predator

J 4. No substitution required

Question ID : 54592722147

Q.15 Select the most appropriate option to substitute the underlined segment in the given
sentence. If there is no need to substitute it, elect option No substitution required.

The total number of plastic toothbrushes being produce, used, and throw away each year
has grown steadily.

Ans X 1. being produce, use ,and throw

J 2. being produced, used, and thrown
X 3. been produced, used, and throw

x 4. No substitution required
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l Question ID : 54592722146 J

Q.16 Select the most appropriate option to substitute the underlined segment in the given
sentence. If there is no need to substitute it, elect option No substitution required.

Somehow, the sea turtles has survive the ice ages and the extinction event.

Ans X" 1. had been survive
X 2. No substitution required
x 3. have survive
« 4. have survived

Question ID : 54592722145 ]

Q.17 Select the most appropriate word to fill in the blank.

the way

Lord Brummell became a symbol of a new masculine style, one that still
people dress today.

Ans  of 1 dictates

X 2. assigns

x 3. observes

X 4. predict

Question ID : 54592722153 ]

Q.18 Select the most appropriate option to substitute the underlined segment in the given
sentence. If there is no need to substitute it, select option No substitution required.

The Samoan islands are fast sinking than expected due to global warming.
Ans X" 1 is sinking fast

x 2. are fast sink
X 3. No substitution required

« 4. are sinking faster

Question ID : 54592722144

—_—

Q.19 Select the most appropriate option to substitute the underlined segment in the given
sentence. If there is no need to substitute it, elect option No substitution required.

Encounters with the big fish are rare, but it can be deadly.
Ans ( 1. but they can,be

x 2. No substitution required

X 3. but it can't be

x 4. as they are

Question ID : 54592722148 ]

Q.20 Rearrange the following sentences in their correct order to form a meaningful paragraph.

A: We have hunted them, snagged them, hit them with ships, and choked them with plastic
bags.

B: The risks facing the seventh, Australia's flat back, are less clear.

C: And yet, somehow, these creatures survived ice ages and the extinction event that wiped
out the dinosaurs.
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D: As the world struggles with diversity loss, six of world's seven species of sea turtles are
considered threatened or endangered.

Ans X" 1 ABCD

#< 2.DBCA
o 3. ADBC
#< 4.ACBD

Question ID : 54592722157

Section : General English2

Q.1 Select the antonym of the given word.
Imprison
Ans X" 1. Occupy
x 2. Compensate
x 3. Enslave
( 4. Release

Question ID : 54592722163

Q.2 Select the wrongly spelt word.
Ans x 1. Summarize

J 2. Rediculous
X 3. Receptionist

x 4. Inhuman

Question ID : 54592722167 ]

Q.3 Select the word which means the same as the group of words given.

An independent person or body officially appointed to settle a dispute.
Ans X" 1. Curator

X 2. Referee
J 3. Arbitratar,

x 4. Amateur

Question ID : 54592722173 ]

Q.4 Select the meaning of the given idiom.

A square deal
Ans x 1. Improper Conduct

x 2. A false arrangement
( 3. A fair and honest transaction

x 4. A reasonable argument

[ Question ID : 54592722168 ]
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~ ]

Q.5 Select the word which means the same as the group of words given.

Extreme or irrational fear of the night or of darkness.
Ans X" 1. Hydrophobia

J 2. Nyctophobia
x 3. Chronophobia
x 4. Acrophobia

Question ID : 54592722172

Q.6 Select the word which means the same as the group of words given.

A room or building in which dead bodies are kept
Ans  of 1 Mortuary

x 2. Funeral

x 3. Postmortem

X 4. Obituary

Question ID : 54592722171 ]

Q.7 Select the synonym of the given word.

Bizarre
Ans ( 1. Unusual

x 2. Dependable
X 3. Ordinary

75 4. Similar

Question ID : 54592722164 ]

Q.8 Select the wrongly spelt word.
Ans X" 1 Particular

J 2. Impateint

x 3. Fortunate

x 4. Thoroughly

Question ID : 54592722165 ]

Q.9 Select the wrongly spelt word.
Ans X" 1. Specialist

“ 2. Expecially
x 3. Specially
x 4. Specialization

Question ID : 54592722166 ]

Q.10 Select the meaning of the given idiom.

In Black and White
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Ans x 1. Lacking imagination

x 2. In a copy of two

X 3. In a verbal communication

( 4. Written down or in print

Question ID : 54592722169 ]

Q.11 Select the synonym of the given word.

Impolite

Ans X 1 Fair
x 2. Humane

X 3. Reasonable

J 4. Rude

Question ID : 54592722160 ]

Q.12 Rearrange the following sentences in their correct order to form a meaningful paragraph.

A: At first, years ago, it was just an occasional piece of plastic trash that Kahi picked up on
the beach cleanups.

B: But one day Kahi spotted something particularly surprising in the beach cleanup: a
toothbrush.

C: A straw here, a takeout container there.

D: Now, in any given Hawaii beach cleanup, he says, it's not uncommon to pick up 20 or even
100 toothbrushes.

Ans " 1 ABCD
o 2. AcBD

75 3.CcBAD
/< 4.CDBA

Question ID : 54592722159 ]

Q.13 Select the meaning of the given idiom.

A white elephant
Ans x 1. A reasonable purchase

x 2. Arare sight

( 3. An expensive item that is troublesome or useless

x 4. A thing considered to be precious

Question ID : 54592722170

Q.14 Select the antonym of the given word.

Boost
Ans X 1. Exclude

J 2. Decline

X 3. Memorize

x 4. Increase
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Question ID : 54592722161 ]

Q.15 Select the synonym of the given word.

Remorse

Ans x 1. Confidence

( 2. Regret
x 3. Decency

x 4. Pleasure

Question ID : 54592722162 ]

Comprehension:

Answer the questions based on the following passage.

Global warming is the slow increase in the average temperature of the earth’s atmosphere
because an increased amount of the energy (heat) striking the earth from the sun is being
trapped in the atmosphere and not radiated out into space.

The earth’s atmosphere has always acted like a greenhouse to capture the sun's heat,
ensuring that the earth has enjoyed temperatures that permitted the emergence of life forms
as we know them, including humans.

Without our atmospheric greenhouse the earth would be very cold. Global warming, however,
is the equivalent of a greenhouse with high efficiency reflective glass installed the wrong way
around.

Ironically, the best evidence of this may come from a terrible cooling event that took place
some 1,500 years ago. Two massive volcanic eruptions, one year after another placed so
much black dust into the upper atmosphere that little sunlight could penetrate. Temperatures
plummeted. Crops failed. People died of starvation and the Black Death started its march. As
the dust slowly fell to earth, the sun was again able to warn the world and life returned to
normal.

Today, we have the opposite problem. Today, the problem is not that too little sun warmth is
reaching the earth, but that too much is being trapped in our-atmosphere.

So much heat is being kept inside greenhouse earth that the temperature of the earth is going
up faster than at any previous time in history. NASA provides an excellent course module on
the science of global warming.

SubQuestion No : 16
Q.16 Select a suitable title for the given passage.

Ans x 1. The greenhouse gases
« 2. Understanding Global Warming
x 3. Climate change and.its impact

x 4. The Earth’s Atmosphere

Question ID : 54592722175 ]

Comprehension:
Answer the questions based on the following passage.

Global warming is the slow increase in the average temperature of the earth’s atmosphere
because an increased amount of the energy (heat) striking the earth from the sun is being
trapped in the atmosphere and not radiated out into space.

The earth’s atmosphere has always acted like a greenhouse to capture the sun’s heat,
ensuring that the earth has enjoyed temperatures that permitted the emergence of life forms
as we know them, including humans.

Without our atmospheric greenhouse the earth would be very cold. Global warming, however,
is the equivalent of a greenhouse with high efficiency reflective glass installed the wrong way
around.

Ironically, the best evidence of this may come from a terrible cooling event that took place
some 1,500 years ago. Two massive volcanic eruptions, one year after another placed so
much black dust into the upper atmosphere that little sunlight could penetrate. Temperatures
plummeted. Crops failed. People died of starvation and the Black Death started its march. As
the dust slowly fell to earth, the sun was again able to warn the world and life returned to
normal.
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Today, we have the opposite problem. Today, the problem is not that too little sun warmth is
reaching the earth, but that too much is being trapped in our atmosphere.

So much heat is being kept inside greenhouse earth that the temperature of the earth is going
up faster than at any previous time in history. NASA provides an excellent course module on
the science of global warming.

SubQuestion No : 17

Q.17 From the given options, choose the one that is most similar to the word ‘Radiated’ as used in
the passage.

Ans X" 1 Propagate

x 2. Circulate

f 3. Reflected

K 4. Broadcast

Question ID : 54592722178 ]

Comprehension:

Answer the questions based on the following passage.

Global warming is the slow increase in the average temperature of the earth’s atmosphere
because an increased amount of the energy (heat) striking the earth from the sun is being
trapped in the atmosphere and not radiated out into space.

The earth’s atmosphere has always acted like a greenhouse to capture the sun's heat,
ensuring that the earth has enjoyed temperatures that permitted the emergence of life forms
as we know them, including humans.

Without our atmospheric greenhouse the earth would be very cold. Global warming, however,
is the equivalent of a greenhouse with high efficiency reflective glass installed the wrong way
around.

Ironically, the best evidence of this may come from a terrible cooling event that took place
some 1,500 years ago. Two massive volcanic eruptions, one year after another placed so
much black dust into the upper atmosphere that little sunlight could penetrate. Temperatures
plummeted. Crops failed. People died of starvation and the Black Death started its march. As
the dust slowly fell to earth, the sun was again able to warn the world and life returned to
normal.

Today, we have the opposite problem. Today, the problem is not that too little sun warmth is
reaching the earth, but that too much is being trapped.in our atmosphere.

So much heat is being kept inside greenhouse earth that the temperature of the earth is going
up faster than at any previous time in history. NASA provides an excellent course module on
the science of global warming.

SubQuestion No : 18

Q.18 The passage is most likely to be taken from:
Ans K 1. A newspaper

75 2. Aresearch publication
x 3. A weekly magazine

( 4. A science Jougnal

Question ID : 54592722177 ]

Comprehension:

Answer the questions based on the following passage.

Global warming is the slow increase in the average temperature of the earth’s atmosphere
because an increased amount of the energy (heat) striking the earth from the sun is being
trapped in the atmosphere and not radiated out into space.

The earth’s atmosphere has always acted like a greenhouse to capture the sun’s heat,
ensuring that the earth has enjoyed temperatures that permitted the emergence of life forms
as we know them, including humans.

Without our atmospheric greenhouse the earth would be very cold. Global warming, however,
is the equivalent of a greenhouse with high efficiency reflective glass installed the wrong way
around.

Ironically, the best evidence of this may come from a terrible cooling event that took place
some 1,500 years ago. Two massive volcanic eruptions, one year after another placed so
much black dust into the upper atmosphere that little sunlight could penetrate. Temperatures
plummeted. Crops failed. People died of starvation and the Black Death started its march. As
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the dust slowly fell to earth, the sun was again able to warn the world and life returned to
normal.

Today, we have the opposite problem. Today, the problem is not that too little sun warmth is
reaching the earth, but that too much is being trapped in our atmosphere.

So much heat is being kept inside greenhouse earth that the temperature of the earth is going
up faster than at any previous time in history. NASA provides an excellent course module on
the science of global warming.

SubQuestion No : 19
Q.19 In the given passage, the earth’s atmosphere is being compared to:

Ans x 1. A cooling agent
« 2. A greenhouse
x 3. Black Dust

x 4. Volcanic eruptions

Question ID : 54592722179

Comprehension:
Answer the questions based on the following passage.

Global warming is the slow increase in the average temperature of the earth’s atmosphere
because an increased amount of the energy (heat) striking the earth from the sun is being
trapped in the atmosphere and not radiated out into space.

The earth’s atmosphere has always acted like a greenhouse to capture the sun's heat,
ensuring that the earth has enjoyed temperatures that permitted the emergence of life forms
as we know them, including humans.

Without our atmospheric greenhouse the earth would be very cold. Global warming, however,
is the equivalent of a greenhouse with high efficiency reflective glass installed the wrong way
around.

Ironically, the best evidence of this may come from a terrible cooling event that took place
some 1,500 years ago. Two massive volcanic eruptions, one year after another placed so
much black dust into the upper atmosphere that little sunlight could penetrate. Temperatures
plummeted. Crops failed. People died of starvation and the Black Death started its march. As
the dust slowly fell to earth, the sun was again able to warn the world and life returned to
normal.

Today, we have the opposite problem. Today, the problem is not that too little sun warmth is
reaching the earth, but that too much is being trapped in our atmosphere.

So much heat is being kept inside greenhouse earth that the temperature of the earth is going
up faster than at any previous time in history. NASA provides an excellent course module on
the science of global warming.

SubQuestion No : 20

Q.20 The passage describes ‘opposite problem’ as one of the following:

Ans x 1. The earth’s atmosphere is'stable.
x 2. Temperature of the earth is low
X 3. Too little sun warmth'is reaching the earth

« 4. The faétithatitoo'much sun warmth is being trapped in earth’s atmosphere

Question ID : 54592722176 ]

Section : General Hindi1

Q.1 f=fafae d & FiF-ar g g e 82
Ans X 1 af3feaw

X 2.7

/X 3. cafh-gars

of 4 veramTo
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l Question ID : 54592722194 J

Q.2 Y=Y FReh hl A &:
Ans o 1 72

K 2.3
X 3.3 R
X 43w

Question ID : 54592722197

Q.3 faoT s A g 81
Ans x 1. g7 OUT9
75 2. wura gar
/X 3. e e g

o 4w

Question ID : 54592722183

Q.4 T o ey oz &
Ans X1 oty

/X 2. s

/X 3. sfda

of 4 aa

Question ID : 54592722191

Q.5 Fafafaa a9 fora 2reg @ oref ‘oo @2
Ans X1 e

X 2. gas

o 3. o

7 4. rehfenen

Question ID : 54592722185 ]

—

Q.6 fF=fafad d & 'ueht o1 gaiaer =& &2
Ans X" 1 ggufifoft

o 2. afoft

X 3.7

75 4. ot

Question ID : 54592722187 ]

Q.7 fF=fafda | & fora 2rez o1 vl 9@ Gepaa A glar &7
Ans X1z

X 2w

o 3. s
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< 4.5ig

Question ID : 54592722196 ]

Q.8 Fafafaa & @ ‘wadl fora o o1 2rg &2
Ans X1 g

75 2. fRsh
W 3. 3
X 49z

Question ID : 54592722180 ]

Q.9 3H @ HI9-TT A< 'Sk’ T qaTaar 781 &2
Ans X1 G

K 2 um

75 3. @l

o 4o

Question ID : 54592722192 ]

Q.10 IS’ At o ofef &:

Ans ( 1. g &Y ST
/X 2.9 & am
/X 3. Hge & am
7K 4. St Y e

Question ID : 54592722193 ]

Q.11 SHIERY 2reg & weaa g1
Ans X‘Laﬂﬂ

K 2%

X 3¢

o 4@

Question ID : 54592722181

Q.12 g&v GEIE]
Ans X' 1 geqaree
75 2. qygaras o
25 3. vraars g
o . sfaree v

Question ID : 54592722184

Q.13 3 21z T et Tum= A gt hifSgi
A (ofiEl & A g8 WO 529 a4l
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Ans X1 gfiefe
/X 2. THeer
/X 3. sit@-gma

o 4 v

Question ID : 54592722189 ]

Q.14 f=fafE@a d & w9-4r 21 g gfeen 8?2
Ans «155@'[

X 2.8l

X 3

X 4 ad

Question ID : 54592722195 ]

e

Q.15 ofifer areg a1 =T aref &2
Ans (133311

X 2=

X 3. FrR

/X 4. o

Question ID : 54592722186 ]

e

Q.16 <t fagior foreft awg &Y AT, T, ATl o1 S FRIA § S8 el ST 8
Ans  of 1. ofwToTaTEE fshor

/X 2. ST ko
X 3. i R
/X 4. e fashyor

Question ID : 54592722199 ]

Q.17 gdm & W §:

Ans (1.@—5;
X 2.uf
/< 3.318
X 4 d=

Question ID : 54592722198 ]

Q.18 FA=fafaa ar Rl § @ (F8) 20 &1 974 R
Ans x1_ﬁg1:{

X 2.9R

W 3.a

X 45w

[ Question ID : 54592722190 ]
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Q.19 3 o1 farei 2res 82
Ans (1;@@

X 2 mgw

X 3. srgger

X 4. et

Question ID : 54592722188 ]

Q.20 ‘g7l # wiF- w7 &2
Ans X-Lfa@fg@

X 2. quEf

o 3. = ar

X swRER

Question ID : 54592722182 ]

Section : General Hindi2

Q.1 g, fame, farea, o, gon, Swte, Yo sl & a1e UgeR givt areT ok g sgerren &
Ans X" 1. gt g
/X 2. usaree Reg
o 3. Rerfats R
75 4. Igawo g
Question ID : 54592722213 ]
-
Q.2 'reT ffeR-amem 9 wlenifh a1 oref T &2
Ans  off 1. age A
25 2. é & anfdre g
7 3. SreTT-ore
#< 4. ofre gy Bz
Question ID : 54592722207 ]
Q.3 39 @ aZfRm Fia-u1 R &2
Ans x 1.,
v
X 30
x 4.:
Question ID : 54592722211 ]
Q.4 T GeATT HgTaR oht 372 o @7
Ans X 1 AR

Downloaded from - www.exammix.com



Visit - www.exammix.com & Download : All Exam Previous Question Papers (Hindi & English)

/X 2. @ g
of 3. =

75 4. =TT

Question ID : 54592722209 ]

Q.5 FafafEa # @ wi-a1 g aa 82
Ans X 1. e A aelt

o 2. T @ e

75 3. theget dielt

75 4. dhget Ha st

Question ID : 54592722203 ]

_

Q.6 ATY gl S 3 &2 o1 i gf® | fohe werR =t arerr @2
Ans  of 1 ueTErE

/X 2. g arn

/X 3. Rfars

75 4. seomEmES

Question ID : 54592722206

Q.7 'ut IRE T JETaR o 31f T g2
Ans XTE@H“I@TB}W

25 2. BR &R AAT ST

o 3. @@ o e

X 4. 3838 S

Question ID : 54592722210

==

Q.8 T dietht dHT el ug arer 57 R UhR 1 82
Ans X 1. dge are

/X 2. Tegarae g

o 3. ffa e

X 4 =T

Question ID : 54592722201

Q.9 f=fafaa d @ RiF-ar g g 8?
Ans X 1. quifd A gerafa 38 g &1
o 2 Tufr d geof &
7% 3. amify a8 peraf @ 9§
75 4. T dt gerafd @ g &

Question ID : 54592722202
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Q.10 U, W, d, ¥, H T STIRUT &:
Ans X1 dq

K 2

W 3 ¢

X 4ds

Question ID : 54592722200 ]

Q.11 I forelt areg ot e i giatagi__ a1 v fomar sIrar @1
Ans X 1. srgaror g

X 2. gof frm

X 3.us R

o 2. oof farem g/ Su o g

Question ID : 54592722212 ]

 —

Q.12 379 € g9 U Shi9-41 87
Ans X
X 2. X
3
X a

Question ID : 54592722214 ]

Q.13 'SR ¥ FReft Y’ Aehifeh 1 oref am 82
Ans X1 T g

X 2. 3o & gER @ e

o 3. R @l @

75 4. 3o @ e

[ Question ID : 54592722208 ]

—

Q.14 fr=fafE & & 'ur &1 agaes =u a1 giar 8?
Ans X1 e

W 2.5

/X 3. purait

X a3

Question ID : 54592722204 ]

Q.15 fFr=fafEa & & 'waer @ agaa &9 o1 giar 8?
Ans Jtﬁw

X 2. @

/X 3. e

X 4w
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l Question ID : 54592722205 J

Comprehension:

Qe Terer & T § 1 TR o STUR WR Ut U fiY 7Y 81 TR i eaTYEe U U ek U H IR
et 7 @ 9@ faened g1

‘9 3TTae Sfiad &1 e F &1 AR RIS-HAaT gRT Wofid ag-2mel # 9 & 7ed ol WeR fRaT 8l
it HETYEY T Sd TRI-BIe-G-BI¢ I ol J8T I41 &dT | FIE h TRH T cieh 31T dh HIHd =
FAReR aRer ok &1 Sru frehrer ot e TR R 21 oireT TOR & ot g off feeard & w81 8, @8 Tea
OReH T et 81 TR & i oft I+1a SR TG anett 421 8, 3 Tach Uie uRem ol & omeR g1 g
a3 geg ¥ SITUT ot TRTHRT g9-189 o T AT| ITH &f I8 SHTefiien AR AT fiR ArmarehT a1y
AR § TSgR AT @ T4 &, TR ATST SITAT A o Ta 31feeh Gu—7 27 & 12 5qhT fAth Teh Scad &
Gad uRem &R T | TUR & A g cafth A U Sfiae 9gd 81 ®U § % fohar &, afeh Sfta
¥R 3T URSH e d I1d oh I fAER IR Ugd 1Y | T df Jg ¢ foh TR & ¢ SR 7 &M =
Sfee & B¢ ¥-BieT GHgn S ara wrf ot O T SR 91gT § foha fohar 81 ater & arel et aafoiT
B TR T T St I YA WR ST UdTeRt ThexT GehdT & | TS a1, Srsfed fefehT, dfam, mieh
SR FER o 31T < AR 9 ech €1 el Ugd Teh 8| foheft ot = et 8 “afes gl Igaift o
Y AT & aF Sl I ik Rt Shferd R SR 32T Y ofd B v &) Smen, semedt ofik ket @
gafia 7 T8 TheldT JFER TROT " |

SubQuestion No : 16
Q.16 4T 3/ & THAAT 9184 a1 a1t &1 &:

Ans  off 1. srRtiog e
75 2. ard)
/X 3. ey wfard
X 4. wrme

Question ID : 54592722216 ]

Comprehension:

Qe Terier & T € 1 TR o SR WR Ut U feY 7Y g1 eI Rt Sgeeh U T ek UM H IR
fAreneat & & T faheT g1

‘o’ MRt Sfia ol get #5781 gAR R-gfaT gr1 vofiq de-2mei # 9/ & A dl @R R 81
sl HETEY T SHd TWRf-B1e-G-B1¢ T o 8T a1 &dl & | T h TRH T e 31T dh HHd =
fAReR ufer ohedh &) 3o farehTar ol T e foha &1 3T TER & it e off Rt & %@1 8, 98 Taa
OReH T et 81 TR & i off 31 ofR T et 421 8, 3 Taich Uies uRem ol & omeR 81 fgcfta
fa2a gg A AU I 1T TET-T89 X a1 oT1 IFH & 9 e TR GRIRmT iR AT 81
AR § TSgR AT T T4 &, TR ATST SITAT A b Tad 31feeh TU—T 27 & 12 S9hT fth Teh Scad &
gaq uRem iR T | TUR & A A HgH cafth A 7oA Sfiae 9gd 81 ®U 9§ 7 fohar &, Afdh Sfta
¥R 3 TR e 3 ST o I=H AR TR Ugd 7Y | T df g ¢ foh TR & I8 3R 7 & =
Sitae & BT Q-Ster THT T el B ot O T SR 2reg1 & o fomam &1 st 9 arett et afoiT
B TR Y T et I g UR ST UdTeRt ThexT ehdT & | TS a1, Srsfed feleh, afae, mieh
3R TUR & 3ied TR AR 9/ ek B el Ugd Tdh & | fohel) ek = gt & “afe g Sgarft amm
T &I § Y ST TR Tk aht Shfmd S ST S5 i gfel | A gt Sref, aerrsit ofk factet @
afia 7 T8 TherdT JreR TRUT T |

SubQuestion No : 17
Q.17 9Rd 1 fahfAa 32 d 7 g9 &1 FRUT &:

Ans X 1. i edeRe
X 2. sfiifers g
X 3. aehifes T
o 4. 5% iy Ferian

Question ID : 54592722217 ]

Comprehension:

Qe Terter f&am T € 1 iR o SR OR Ut U ey 7Y 1 eI Sl eagEe U T ek UM H IR
et 7 O T fRAerey g1
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"9 3TTasef Sfiee &1 e F &1 AR RIS-HAaT gRT Wofid ag-2Tel # 91 & Hed ol WIhR fhaT 8l
sfel AETIEY o STd Wf-Bie-Y-BI S Sl IS a1 ST &1 G & TR § AR 3171 Jeh A =
AReR aRerm oheeh g1 Sru fiehTer ot U gered ok @1 ot TaR & st g off Rard & g1 8, @8 gea
RS T el 81 TR & foraa off 31 SR TG anett 427 8, 3 Tach Ui URem &l & SmeR 81 &z
T geg 7 STUH Y T TEG-TeT B T AT ITH <t 7 S TR AR ofR ATy 91y
IR § Tege AT T T &, TR TS SO fAe ol Gad 3fferes Tu— 327 & 1? 39T fth Ueh Scdk &
Fad uRem R T | SUR & AgH @ 78 cafth A 70T Sfia- 9gd BI ®U 9 7 fohar 8, Afe Sfta
¥R 3T URSH & 3 I1d oh I AR WX Ugd 1Y | T ol Tg ¢ foh U9R & I8 3R 7 T =
Sitae & BT Q-Ster T0 ST arel HRf ot O 7 SR orgT & o fmam &1 St €1 arett et aAfoiT
B TR T T St I YA WR ST UdTent TheT ehdT & | TS a1, Srsfed fefehT, dfam, mieh
SR FER o 31T < AR 9 hech €1 el Ugd Teh 8 | foheft ok = gt § “afes g Igaift o
Y ermrar & aF ool I iR Rt hferd R o1 32T Y gfet B v gt Sren, semedt ofik fadtert @
Tafid 7 TE TheldT JFER TRUT " |

SubQuestion No : 18
Q.18 ‘Hu=T o1 I faeite 2reg &:

Ans 1 sifee
X 2.

o 3. Ro=

X 4R

Question ID : 54592722219 ]

Comprehension:

Qe Terier & T € 1 TR o YR WR Ui U e 7Y g1 TR i e4YEa U Ul Udeh UM § IR
et § @ 9@ faened g1

‘9 3TTae Sfiae &1 e F &1 AR RIS-HaT gRT Wofid ag-2mel # 9 & A ol WieR fRar gl
it HETYEY T SHd TWRI-BIe-G-B1¢ T ol I8T I41 &dT | T & TRH T cieh 31T dh HIHd
FAReR aRer ahedh &1 Sru frehTer ot e were o 21 oireT TOR # ot o off s & w81 8, @8 Oaa
ORerH T el 81 TR & i off 310 SR TG anTett 421 8, 39 Gach Uie uRem &l & omeR g1 &
faa gg  FTUH Rl T TE-TET A T o071 ITH & 9 s TR BT oz AvTEThY S10]
AR Y TSgR AT @ T4 &, TR 3ATST SITUT A T Ta 31feeh Gu— &7 & F1? qhT fth Teh Scd &
Gad uRem &R T | TUR & A g cafth A 70T Siia- 9gd 81 ¥U 9 % fohar &, dfe Sfta
IR IFYH URYH R F I & oA IR R U9 Y| T qt 7 8 fh TR & 92 ok Ag= o =
She & B¢ A-BleT Grgn S arar wrf ot O T SR igT § fohar fohar 81 aier e arel gt aafoiT
&) TR & T St I TaEe WR ST UdTent Thedl ehdT & | TS a1, Srsfed fefehT, afam, mieh
IR TR & IS 71T FRAR 91 eeh &l ol Ugd §eh 6 | fhelt oiaeh = &gl & "afs gid It av-
Y ermrar & Y Sl I ik Rt Shfrd v SR 32T Y ofd B v &) Smen, semedt ok ket @
yafid 7 T8 TherdT JFER TROT T

SubQuestion No : 19
Q.19 foredt off &1 & Teat=aar & fag s==dt &:

Ans X 1. enfifer fasarg
o 2. 5o fizea gd dRem
X 3. TR &1 g
75 4. anffen guwran

Question ID : 54592722218

Comprehension:

Qe Terier & T €1 TR o STTUR WR Ui U ey 7Y 1 eI Sl eaYEe U U ek UM H IR
foreneat & & T faheT g1

‘o’ 31t Sfia ol get # &1 gAR R-gfaT gr1 vofia dg-2met # 9 & A dl @R R 21
sl HETEY T Sd TWRf-B1e-G-B1¢ T o J8T a1 &dT | T h TRH T cieh 31T dh HIHd =
FARER aRer ohech &1 Sru frehrer ot et TR o 21 oireT TuR & off g off feard & %e1 8, @8 Iea
TR &1 thet &1 TR & forda off 3=1a R Tygareft 321 8, 37 Tadh die uRem a1 € amemr 21 fgdfia
a3 geg A STUTH ot TRTHRT Ig9-189 o T AT ITH & I8 SHeifien AR AT SfiR AmmamehT aroy
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AR Q TSgR AT {4 &, TR 3ATST SITAT fAe ol Tard 31fereh Tu—T 327 & 12 S9ehT fAth Teh Scd &
TId IR 7R TTH | SR & A ¥ HgH df<h A S0 Siia Sgd Sic &0 ¥ {7 [T &, wifchd Stias
R ITYR TRHH TR I & oRA @R R Ugd Y| 97 dt I & foh TR & 7 SR #7gH= @ =
Shte & B¢ A-Bier THe S arelr wrf ot O T SR 1gT @ foha foham &1 diter e arelt et aafoiT
B TUR T Ta ST T Ga¥e W ST UdTehT thexT HehdT & | UV i, STelfed fofdhd, A, e
3R TR o 3iEg AT AR o7 hch 81 el Ugd Adh o | fodll oiaen = gl ¢ “afe g Iganht o=
T &7 & Y oo R 1ok et dhmed e aTom Ig=a Y gfd # v &1 e, ameredt ofik foktet @
i 7 Y81 AheTdT JFER aR0T TaAf” |

SubQuestion No : 20
Q.20 ‘STIYR’ 2T | WY ‘AT TThRIOY hife &:

Ans  of 1 Suw
X 2.vwm
X 3. yafarh
X 4. ora R

Question ID ;. 54592722220
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